
Esercitazione di marted̀ı 10/11/2015
Gruppo M-Z

Sviluppi di Taylor: Applicazione al calcolo di limiti.

Calcolare i seguenti limiti:

1. (a) lim
x→0

x−tg x
x2 tg x

;

(b) lim
x→0

x−tg x
x tg x ;

(c) lim
x→0

x−tg x
x3 tg x

;

2. lim
x→1

ex
2+1

e2x
−1

x sin(x−1)−sin(x−1) ;

3. lim
x→0

log3(1+x)−x3e−
3
2x

3x5−7x8 ;

4. lim
x→0+

x4 log x+(ex−1)2
1−cos(4x) ;

5. lim
x→1

sin(π
2
x)−1

4√x2−1
;

6. lim
x→0+

(2
√
x3−log(1+2

√
x3)) tg x

1+3 sin2 x−e3x2
;

7. lim
x→0

x2 · sinx2−sin2 x
sinx2−tg x2 .
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